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Test 1
Evaluate the following limits ;
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Answer the following questions.
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11. Is the function continuous at x = 1, explain why ¢r why not?
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14. Is the function continuous at x = 0, explain why or why not?
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17. Is the function continuous at -5, explain why or why not?
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20. Is the function continuous at x = 2, explain why br why not?
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21. Show that x3 = v/x + 5 has a solution in the inte
Hint: Use the Intermediate Value Theorem
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Determine the points of discontinuity for the following functions.
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Determine the interval of continuity for the following functions.
23. f(x) = 3 + 1S conhivid e A N Ao (0.
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24. Determine the value for c that makes the functioh continuous.
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